w €= T \Q/
(V] Vermenigvuldig decimalen met 10.100.1000

Naam: Datum: Score:
5,805 x 100 = 5,295 x 1000 =
4,681 x 100 = 10,003 x 1000 =
3,283 x 1000 = 6,019 x 100 =
9,298 x 10 = 10,832 x 10 =
3,03 x10 = 7,535 x 10 =
3,575 x 1000 = 7,708 x 10 =
7,648 x 100 = 4,105 x 1000 =
2,536 x 10 = 4,672 x 10 =
2,269 x 100 = 3,048 x 1000 =
7,028 x 100 = 6,5x10=

www.snowmath.com


https://www.snowmath.com

v € T \Q/
QVJ Vermenigvuldig decimalen met 10.100.1000

Naam: Datum: Score:
5,805 x 100 = 580.5 5,295 x 1000 = 5295
4,681 x 100 = 468.1 10,003 x 1000 = 10003
3,283 x 1000 = 3283 6,019 x 100 = 601.9
9,298 x 10 = 92.98 10,832 x 10 = 108.32
3,03 x10=30.3 7,535 x 10 =75.35
3,575 x 1000 = 3575 7,708 x 10 = 77.08
7,648 x 100 = 764.8 4,105 x 1000 = 4105
2,536 x 10 =25.36 4,672 x 10 =46.72
2,269 x 100 = 226.9 3,048 x 1000 = 3048
7,028 x 100 = 702.8 6,5 x10=65

www.snowmath.com


https://www.snowmath.com

